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/* pointer-string.c */
#include <stdio.h>

int main(void)
char *strPtr="abc";
printf("O0000%s 000 \n", strPtr);

return O;

char *str 0 str0 char OO0 000000000 O00ODOCOOODODOOODOOOOODO
O0"abc" OO0O00D0O00O0O0D00O strP,tr00000000OO
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O000000UOchar 00000O0O0OOOOOOOOOOOODO (DOOOOOOOODOOO
00000000oooooooooooo)o

/* pointer-string-assignment.c */
#include <stdio.h>

int main(void)
char *strPtr = "abc";
printf("O000%s 000 \n",strPtr);
str="def";

printf("O000%s 000 \n",str);

return 0;

5.2 0O0O0O0O const

U000 const UOOOOOOODOOO0OOODOOOOODOODOOOOODOOOODOOO
000000000 D0Oconst UO0O00O0OOOO0O0DOOOODOOOOOOOOOOOOO
oboooooboooobobooog

o7



5.3 U0OO0OO0ODOOO 5 Uoboboooboon

/* const.c */
#include <stdio.h>

int main(void)
{

const int a=1;

at+;
printf("al00%d 000 \n",a);

return 0;

O000000007ncrement 0000000000000 2’000000070000
O0error HOOOOO0O0OO0O0ODOOOOOOODOOO

“/comp3a $ cc -Wall const.c -o const -Wall

const.c: In function ’main’:

const.c:8: error: increment of read-only variable ’a’
“/comp3a $ ./const

-bash: ./const: No such file or directory

ubodlb const UOUOOOOOOOOOOOOO

echar xp J char 0000000000000 O0O00OODOODOOODOOchar DOO
ooo

e char * const p U char 0000000000000 OOOD(const 0O00ODOO
pointer O )

e const char *p [ const char O (const 0000 char0)00000D000O0O0

e char const *p [ const char *p 00O const char O (const 00000 char0) O
ooooooooo
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0000 (Doboooo) 00

char * strcpy(char *strl, const char *str2) D00 str20 str1 0000
ooooooooooooo
ooo

char * strcat(char *strl, const char *str2) oog str2(|:| oo2000

00ooooooooo)oo
00000 strl 00000
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int strcmp(const char *strl, const char *str2) OO0 strlO000O0 str20
0o0DOooooooooono
0opDoooooogoon
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size_t strlen(const char *str) O00str000onooon
00ooooooooon
oooo
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ooo
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/* string-assignment.c */
#include <stdio.h>
#include <string.h>

int main(void)

char str[100];

strcpy(str,"abc");
puts(str);

return O;

00 5.2 0000000000000000000000000000000O000O0COAO
strlen() DO0O0O000O0O0O0O0O0O0O0OThisisastring” 000000717007 0000
O00(@0000000000)0000000000D00D000 string-assignment.c 00
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54 U0OO0OOOO

U000 char 00 10000000000000000O char0O0O 2000000000

[char 00D [00DO0DI000000000+]; |

gboooboobooooobooog

[char 000 D[00O0000000+1]={000000 }; |

good
00000oO0o0O0ooO0o0oUooOoOooo ,(Doo)ooooo

char str[10] [40];

0000 4000 (D0OO0O0ODOD)000O00 100000000000 Ochar0000O0O
b0 20000000000000000O0 1000000
30000000 str2)000030000000000000DO0OOOOOO0O

fgets(str[2], strlen(str[2], stdin);
ooono
scanf ("%s", &str[2]);
goooooooo
puts(str[2]);
ooono
printf ("%s", str[2]);
gobodooooobuoooobobuoooooboooboooa

g s5.2031100000000000000

/* jmark.c */

/x 00000 =/
#include <stdio.h>
#define N 200 /x OO x*/
#define M 3 /x OO0 =x/

int main(void)

int mark[N] [M],sum[N]={0};
int 1i,j;
char subj[M][5]={"O0O","O00","00"}; /+* OOOOOO =*/

for(i=0; i<N; i++)
for(j=0; j<M; j++){
printf("%d 00 %s O0O", i, subjl[jl);
scanf ("%d", &mark[i] [j]1);
sum[i] += mark[i] [j];

printf("\n");
printf("%4s %5s %5s %5s %5s\n\n","00 ",subj[0],subj[1],subj[2],"O00O");
for(i=0;i<N;i++)

printf ("%4d %5d %5d %5d %5d\n",i,mark[i] [0],mark([i] [1],mark([i][2],sum[il);

return O;
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/* pointer-array.c */
#include <stdio.h>

int main(void)
char *subject[3];

subject[0]="00";
subject[1]="00";
subject[2]="00";

printf("&subject[0]=Vp \n",&subject[0]);
printf("&subject[1]=Yp \n",&subject[1]);
printf ("&subject[2]=Vp \n",&subject[2]);
printf ("subject[0]=Yp %s\n",subject[0],subject[0]);
printf ("subject[11=Vp %s\n",subject[1],subject[1]);
printf ("subject[2]=Vp %s\n",subject[2],subject[2]);

return O;

}

char *subject[3] 00char 0000000 30000000000 0O0O0ODOAO

subject[0]="O00"; 00000 000000000000 OOOOODDOOOCODOOO
0 subject[0] O0OOOOODO

googooan

~

$ cc pointer-array.c

$ ./a.out

&subject [0]1=0xbffff940
&subject [1]1=0xbffff944
&subject [2]=0xbffff948
subject[0]=0x1£70 OO
subject[1]=0x1£78 OO
subject [2]=0x1£80 OO
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ooooo
0000 Oxbftt940 Oxbffff944 OxDbftff948

0000 | subject[0] | subject[1] | subject[2]
O 0x1£70 0x1£78 0x1£80

ooog  0ox1f7f0  0x1f78  0x1f80
0 "00” ‘ "00” ‘?7['['7?
good

000 pointer-array.c 0 main() OO0 OO0 50000000000000000O0O
char *subject[3]={"O00O","O00","00"};

good

5.6 main()0 0000

main() 00000000000 O0OOOO00OOOO0OO0O0DOOO0O0OODOOOOO0O0ODOO0
0000000000 (command line argument) 00 00

int main(int argc, char *argv[])

argcJ00000000O0CDargv(1000000000O0O00OOO

/* echo.c */
#include <stdio.h>

int main(int argc, char *argv[])
int 1i;
printf ("argc=Yd\n",argc);
for(i=0;i<argc;i++)

printf ("argv[/%d]=Vs\n",i,argv[i]);

return O;

googooogno

$ cc echo.c -o echo -Wall
$ ./echo This is a string.
argc=>5

argv[0]=./echo
argv[1]=This

argv([2]=is

argv[3]=a

argv[4]=string.

00000000 ./JechoOOODOOOOODOOOOD
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